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I. Put the verb in brackets in the correct form.          

1. If you (to boil) water, it will disappear into the atmosphere as vapour. 
2. Provided the night vision system (to work), the drivers can see in the dark.
3. If helium (to be) lighter than air, a helium-filled balloon wouldn’t rise in the air.
4. Unless you (to work) much harder, you will not pass your exam.


II. Fill in the gaps with the words in the box.

	  the depth                 operates     descending    explore      samples             
                 submersibles






Hercules is one of the very few …….(1) equipped with special features that allow it to perform complicated tasks while …….(2) to …….(3) of 4,000 meters. Its cameras and sensors closely …….(4) the dive site, measure pressure and look for …….(5). A crew aboard a support ship ……. (6) Hercules via a long fiber-optic cable that transmits operator commands and electrical power.    
	Score
	Points

	2
	





III. Translate the following sentences into Russian.    

1. If I were you, I would attend every lecture of this prominent scientist.
2. The results we got provided us with some new valuable data.
3. The scientists wanted to find out whether electricity could be used for long distance communication. 
4. Had they used new materials, the device would have been more reliable.
5. The report could have been much more interesting, if they had used the modern visual facilities.
	Score
	Points

	5
	




IV. Complete the sentences.      
1. Without water, all life on Earth would … .
2. The lecture will not be delivered unless … . 
  
	Score
	Points

	2
	







